Name: Score:
p (Identifying Graphs) nestep o2
Choose the correct graph that best describes the solution for each inequality.
1) %>5 2) -|3x]| <9
a) +H—+—+=t++++t+o+-++> ) I o e e e e e B e B S o e e 2
-60 -40 -20 0 20 40 60 -6 -4 -2 0 2 4 6
b) <t++t-ot+—+—++1+="1+"+1> by <++t+ot+—++-++="1+++1>
-60 -40 -20 0 20 40 60 -6 -4 -2 0 2 4 6
o “It+tt+t+t+tttedt"ti> o €«—+H—+—+-="++++t+t++i>
-60 -40 20 0 20 40 60 -6 -4 -2 0 2 4 6
d) €<+H+-+-- I e e e e e d) No solution
-60 -40 -20 0 20 40 60
3)
U 6 12 18 24
b) 111>
6 12 18 24
9 Gain complete access to the largest B————————>
. . . 6 12 18 24
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5) Not 3 member;
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a) i e e B e B
gancomple(-e 7 14 21 28
b) access. >
7 14 21 28
0 R e e B e B
7 14 21 28
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7)
a) +Ht+—++I+++t+et+t++> a)
-45 -36 27 -18 -9 0 9 -15-12 9 6 -3 0 3 6 9 12 15 18 21
by <+ ++4+t+—++=+1++> ——+—t—+——+—+++t+1+1>
-45 -36 -27 -18 -9 0 9 -15-12 9 6 -3 0 3 9 12 15 18 21
o —+—H+—+—+—+++++t++1> ST . s s e e e e S
-45 -36 -27 18 -9 0 9 -15-12 9 6 -3 0 3 9 12 15 18 21
d <«+—+—+—+—+1"tt+++1> d)
-45 -36 -27 -18 -9 0 9 -15-12 9 6 -3 0 3 6 9 12 15 18 21
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